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1.1 00000

4 N

# 3+01;;
Characters 5—6:
3+ 01 ;;

A

Warning 3: deprecated: ISO—Latinl characters in identifiers
Characters 6—7:

3+ 01 ;;

A

Error: Illegal character (\128)
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4 N
# 3 + (let x = 4) ;;
Characters 14-15:
3+ (let x = 4) ;;

A

Error: Syntax error: operator expected.

#
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000 Syntaxerror 0000000000000 000O000OCaml 0000000000000 O0O0OOCOO0ODOOOO

0000000000 00O00 (DO0OLUO0O0D00OO0)DInUO0OO0 letD0D0DODODOODOODODOODOOODDODOOOOOO

0000000MmMmODO operator (000 )000000000DOOO0OODODOOOODOOOODOOOOD

1.3 D000

4 N
# 3+ "3"
Characters 4-—7:
3+ "3" ;;

Error: This expression has type string but an expression was expected of type
int
- J
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let rec foo x =
if x = 0 then 1.0

else x * (foo (x — 1)) ;;
Characters 53—66:

else x * (foo (x — 1)) ;;

Error: This expression has type float but an expression was expected of type
int
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1.4 Warning
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# match [1;2;3] with

h ::t — 10 ;;

Characters 0—-30:

match [1;2;3] with
h ::t — 10...

Warning 8: this pattern—matching is not exhaustive.
Here is an example of a value that is not matched:

[]
— : int = 10

- J
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#1 /0 ;;

Exception: Division_by_zero.
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# print_int 13; print_float 3.14; print_newline (); 10 ;;
133.14
— : int = 10
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# [ 1; (print_int 13; 2); 31;;
13— : int list = [1; 2; 3]
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0000000000000 D0000D00D00DO (stack overflow) 000000000 ODO

# let rec foo x =1 + (foo x) in
foo 100;;

Stack overflow during evaluation (looping recursion?).
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# let rec goo x = goo x in
goo 100;;
(x DO0O0o0o0ooooooooooono =)
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# let rec foo x =1 + (foo x)

i
val foo : 'a — int = <fun>

# #trace foo ;;

foo is now traced.

# foo 10;;

foo <—— <poly>

foo <—— <poly>

foo <—— <poly>

(x+» JO0O0OD0OCO x)
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